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Consider the graph of a function.
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Evaluate the limit.
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9.1

Define f(x) = tan‘](%) for x # 1.

Answer the questions using a plot if necessary.

Can f(1) be defined so that f is continuous at x = 1?
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How should f(1) be defined so that f is right-continuous at x = 1?

(Use symbolic notation and fractions where needed.)
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Let f be the function
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Find the value of c that makes the function left-continuous. &Qd (\ vV L74) = ;‘E (‘-l ——
o S U.l: )<

(Use symbolic notation and fractions where needed.) ?\(/’?_:_(];“J
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Find the value of c that makes the function right-continuous.

(Use symbolic notation and fractions where needed.) 1T —-C ”:% s —)
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Idea: limit as x -> infinity of a fraction, only depends on ><

the leading terms / coefficients —
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How: divide top/bottom by the leading term in denom
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